Parallel Grip

=X Clean Room / Hars

¢ Precision applications:
Preloaded “Dual-V” roller bearings
eliminate side play for excellent part

position repeatability. ¢ Harsh environments: ) o
« Clean Room rated: All moving components are located within * Longer finger applications:
A : o ] the stainless steel shield. The body has a Rigid design allows for longer gripper
corrosion resistant shield protects the drive it which | contami finger lengths to be used when compared
and bearing mechanism. All internal P et lp e aminajgd B Gther arippers of equal weight
components are lubricated with clean room o e Gl hrelireg 4y '
grade lubricant. The scavenge port can be ¢ Repeatable grip force: ¢ Non-synchronous motion:
used with vacuum pressure to prevent Low friction mechanism allows for The unit can made non-synchronous
escape consistent, repeatable gripping forces. providing independent jaw motion
of particulate generated by the internal To grip delicate parts, grip force can be allowing the gripper to pick or place
mechanism. easily altered by adjusting air pressure. at a point other than it’s center.
Mounting Information: Technical Specifications:
G"ppers can be mOI.IIIled & Opel‘aied in any or'entatlon Pneumatic sPeciﬁcations Imperial Metric
Pressure Operating Range 5-100 psi .3-7 bar
Cylinder Type Dual Double Acting
Dynamic Seals Internally Lubricated Buna-N
Valve Required to Operate 4-way, 2-position
Air Quality Requirements
Air Filtration 40 Micron or Better
Air Lubrication Not Necessary*
Air Humidity Low Moisture Content (dry)

Temperature Operating Range
Buna-N Seals (standard) -30°~180° F -35°~80° C
Viton® Seals (optional) -20°~250° F -30°~120° C

Body mounts with
screws and locates

Shields provide protection

from falling debris when Maintenance Specifications'

‘ ‘ ‘ y ‘ ‘ Expected Life
Normal Application 5 million cycles
for accuracy 9 w/ Preventative Maintenance 10+ million cycles*

with slip fit dowel pins mounted upside down
Field Repairable Yes
Seal Repair Kits Available Yes

*Addition of lubrication will greatly increase service life
*See Maintenance Section

e

iy

Fingers attach to jaws with screws and locate by keying

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOSO0.com



Product Features

Hard Goat Clean-Room Lubrication Quality Components
Pre-Load Anodize Units are lubricated with a clean- Internal components are made
Adjustment The body has room grade grease from hardened bearing & tool steels
hard-coat anodize L External components are made
Screws 60 RC with Teflone~ S€lf Lubricating Seals  from corrosion resistant materials

Adjustable preload impregnation Self lubricating dynamic seals for resistance to de-ionized water
screws allow for (Buna-N only) or for use in FDA & medical parts
p?éjljouaséno]?lnrtoﬁfer One Piece Body handling applications

bearings One piece lightweight Dowel Holes Sensors

Y st S b
v “How to Order” Section
for more info)

Accessory
Mounting

*7
Patented :!

Bearing Support
Dual “V” roller bearings provide

low friction rolling motion Stainless
Preloaded Bearings  Purge/Scavenge Port Steel Shields
Stationary and

Roller bearings are preloaded For extreme environments from
for maximum support and dirty & gritty to clean-room
zero side play Class 10 or better

High Grip Force .
Non-Synchronous High grip for?e with relgpect oweightdue  Stainless Steel Screws
Operation Available i eyiremely efficient drive mechanism  Provides protection against corrosion

non-contacting shields
eliminate the possibility
of particle generation.

Operating Principle

Sensor
Equalizer Magnet Piston Drive
Standard Pin

Body

Cap

Scavenge or Purge Port - \ Shields
For clean room or harsh environments

Roller  Roller Bearings
Way & Cages Synchronizing Jaw
Bar
Exhaust Pressure Pressure Exhaust

\
~ Open

e
Position —

T Closed
Position ~—

¢ Dual double acting opposed pistons, connected to both a jaw and a synchronizing
bar by a drive pin, actuate in opposite directions.

* The synchronizing bars are connected to the equalizer which synchronizes the
motion.

e The purge/scavenge port can be used to expel or retain contaminates using
pressure or vacuum respectively.

e Suitable for internal or external gripping.

 The synchronizing elements can be removed for non-synchronous operation.

U.S. Patent # 5,529,359 Designed and manufactured in the USA

Style-RPLC Parallel Gripper

RPLGC SERIES

H - Style: RPLC-1  RPLC-1M
SIze 1 M Stroke: 0.25in. 6.4 mm
Grip Force: 26 b 116 N
Weight: 16 1b .07 Kg 1_%

#»1.100

Style-RPLC Parallel Gripper

= Style:  RPLC-2 RPLC-2M
Size -2/ Stroke:  0.50in., 127 mm
Grip Force: 26 1b 116 N
Weight  201b  .09Kg

f1.101

Style-RPLC Parallel Gripper

H - Style: RPLC-3 RPLC-3M
5|ze 3M Stroke: 0.75in.  19.1 mm
Grip Force: 36 Ib 160 N
Weight: .321b 15 Kg

—a~
—r

L L
e f 1,102

Style-RPLC Parallel Gripper

¥ p Style: RPLC-4 RPLC-4M
SIze 4M Stroke: 1.00in. 254 mm
Grip Force: 36 Ib 160 N
Weight: .381b 17 Kg

T 1,103

Please see hack cover for DE-STA-CO Global Locations. www.destaco.com

WWW.COMOSO0.CoOMm



PARALLEL GRIPPER RPLC-1
PRECISION DUAL “V” GLEAN ROOM SERIES

i3] Specifications RPLC-1 RPLC-1M
750 Total Rated Grip Force F @ 100 psi, 7 bar26 Ib 116 N
‘ [19.1] ‘ 0.25in. 6.4 mm
; i 0.16Ib 0.07 Kg
I 5; 10 750 Pressure Range 5-100 psi 0.3-7 bar
" . ¢ [15.00] [19.1] Cylinder Bore @ 0.438 in. 11.1 mm
I in3 3
& é & h 1 4 Displacement 0.038 i’ 0.6 cm
Temperature Range
2X @ .0938 SF X .18 DP / \4x #4-40 X .18 DP Standard Seals -30°~180°F  -35°~80°C
[0 3 SF X 4 DP] [M3 X 4 DP] Viton®Seals -20°~250°F  -30°~120°C
Actuation 0.10 sec. 0.10 sec.
Accuracy.. I . +0.002in. +0.05 mm
Repeatability...........coocreeereeeneenerneeneeerenens +0.001 in. +0.03 mm
Valve required to actuate ...........ccccoeereenee. 4-way, 2-position
2X #10-32 [M5]
AIR PORTS (CLOSE)
22
—\| OPEN
[6] 33
[8] ., A4
11
b g t o g
ée 52 .44 k/
0300 |y =~ 1006 1.163
= #4-40 X .11 DP [M3 X 3 DP . .
B s <~ D —— (SENSOR MINTG HOLE ‘ (27.8]  [29.5]
: B DO NOT EXCEED DEPTH) S
#10-32 [M5] @ ﬁ |
PURGE OR SCAVENGE =1 = (] -
PORT ‘k 1.75 [44] (OPEN )a‘
1.50 [38] (CLOSED)
.250
e 4X #4-40 X .15 DP
N f ‘ ‘ [6.4] [M3 X 4 DP]
o] [0k
224 001 ] 1
[5.69 0.03] L -750 4‘ 1 l..|.25
(19:1] [6.4] — UNLESS OTHERWISE NOTED ALL TOLERANCES ARE AS SHOWN BELOW
JAW MOUNTING PATTERN e .
( SHOWN IN OPEN POSITION ) ¢ =NCl - O Imperial in.  Metric [mm]
et A Ao ey MeoTheads o0 S0 o= reiy
Y Conterine rolecton 005" or [013mm] OUsEEN  0.0000= 0005 [0.00] = [.013]

Lﬂadlng Information How to Order: (Order Accessories separately from Basic Model)
N Ibs. GRIP FORCE PER FINGER
62 14 1 100 ps)
5312 = [7 bar] WARNING!
o 80 PSI [5.5 bar] 5 DO NOT EXCEED
TRT) MAXIMUM EFFECTIVE
b saro o + . FINGER LENGTHS RPLc_-' ‘ ‘_‘ ‘_‘ ‘
j V4
= 2 6 40 PSI [2.7 bard
& .
= 18 4 *
T 20 PS| [1.4 bar] s
9 2 \
oo ! T i SENSOR ACCESSORIES™ cbER's T
0 : Sensor Mounting Kit for Imperial & Metric Units (mounts 2 sensors) 0SMK-008 1
NPN Magneto Resistive Sensor with Quick Disconnect* OHSN-017 1or2
PNP Magneto Resistive Sensor with Quick Disconnect* OHSP-017 1or2
Quick Disconnect 2 Meter Cable Length* CABL-010 1or2
Quick Disconnect 5 Meter Cable Length* CABL-013 1or2
PNEUMATIC ACCESSORIES
. Fail Safe Valve (Imperial) OFSV-001 1
Fail Safe Valve (Metric) OFSV-004 1
e Standard Seal Repair Kit SLKT-010 1
Viton®Seal Repair Kit SLKT-010V 1
My *Sensor and cable sold separately tPiston magnet standard
- - Static Dynamic
Loadmg Gal’acltv* Imperial Metric Imperial ~ Metric
FAIL SAFE MAGNETO RESITIVE.
Maximum Tensile T 50 Ibs. 222N 15 Ibs. 67N VALVE OPTION 7 R =3 (1 ““ SENSOR OPTION
Maximum Compressive G 50 Ibs. 222N 15 Ibs. 67 N N 1
Maximum Moment Mx 30in.-lbs. 3.4 Nm 10in.-lbs. 1.1 Nm |
Maximum Moment My 40in.-lbs.  4.5Nm 12in.-lbs. 1.4 Nm e —t B 4
Maximum Moment Mz 30in.-lbs. 3.4 Nm 10in.-Ibs. 1.1 Nm = 50 g MN, — T

*Capacities are per set of jaws and are not simultaneous

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com



PARALLEL GRIPPER RPLC-2
PRECISION DUAL “V” CLEAN ROOM SERIES

2476 Specifications RPLC-2 RPLC-2M
[62.9] Total Rated Grip Force F @ 100 psi, 7 bar26 Ib 116N
.750 0.50 in. 12.7 mm
9.1 Weight 0.09 Kg
1 Pressure Range 0.3-7 bar
Ry 4‘; D T ] (Diylmlder Bore:[(Z) . 112.1 mam
] se0 750 isplacemen 2cm
-t [15.09] [19.0] Temperature Range
5 é Y Standard Seals..........cccoreerereneererneinenns -30°~180°F  -35°~80°C
. Viton®Seals ... -20°~250°F  -30°~120° C
2X @ .0938SF X .18 DP/ k4x #4-40 X .18 DP Actuation .. 0.13 sec. 0.13 sec.
[©3 SF X 4DP] [M3 X 4 DP] Accuracy.... +0.002 in. +0.05 mm
Repeatability +0.001 in. +0.03 mm
Valve required to actuate .............ccocereenee. 4-way, 2-position
22 [6l—  =—
OPEN
.50 [13]j=— —— .62 [16] |=—
Lo ¢ \+ :
ée 5o A4 @ 3118] ‘
: pe 011 S — r
[17) - ( f J 1096 4163
I S <A 278 oy
, /@ | Q\M%OX.‘HDP [M3 X 3 DP| = -
( SENSOR MNTG HOLE, :
2X #10-32 [M5, DO NOT EXCEED DEPTH ) |
AIR PORTS (C[LO]SE) ] = =
2.33 [59] (OPEN) ‘
#10-32 [M5] T 1.83[46] (CLOSED)
PURGE OR SCAVENGE
PORT
.328 4X #4-40 X .15 DP
| ‘f»‘ B3l [M3 X 4 DP]
S A==y
.224 001 250
[5.69 0.03] ‘k [‘2931_214‘ "’L [6.4]

JAW MOUNTING PATTERN
(SHOWN IN OPEN POSITION)

—— UNLESS OTHERWISE NOTED ALL TOLERANCES ARE AS SHOWN BELOW

¢ = @ e Imperialin.  Metric [mm]
Dimensions are Third Angle  All Dowel Holes are SF (Slip Fit). ~ Metric Threads 0.00 =01 [0] = [.25]
symmetrical about pmjecﬁgn Locational Tolerance Course Pitch 0.000 = +.005 [0.0] = [+.13]

centerline +,0005" or [+.013mm] 0.0000 = +.0005  [0.00] = [+.013]

Loading Information

How to Order: (Order Accessories separately from Basic Model)

N Ibs. GRIP FORCE PER FINGER
62 14 100
ey WARNING!
5312 SOPSIEET N DO NOT EXCEED
S Sball . MAXIMUM EFFECTIVE
o5 . FINGER LENGTHS
W oas g 60 PSI [4.1 bar] > RPLC_Z - -
(= .
2 2% 6 4078157 bag >
& N
Z 18 4 | X
T 20 PSI [1.4 bar] .
92 : SENSOR ACCESSORIES" ORDER # arv/uNIT
00 1 Sensor Mounting Kit for Imperial & Metric Units (mounts 2 sensors) 0SMK-008 1
b AL a g3 .} NPN Magneto Resistive Sensor with Quick Disconnect* OHSN-017 1or2
EFFECTIVE FINGER LENGTH - L PNP Magneto Resistive Sensor with Quick Disconnect* OHSP-017 1or2
Quick Disconnect 2 Meter Cable Length* CABL-010 1or2
z z Quick Disconnect 5 Meter Cable Length* CABL-013 1or2
Mz — |=— PNEUMATIC ACCESSORIES
raw ! Fail Safe Valve (Imperial) OFSV-001 1
) A L Fail Safe Valve (Metric) OFSV-004 1
=Y X Standard Seal Repair Kit SLKT-010 1
L cllT Viton®Seal Repair Kit SLKT-010V 1
F/2 F/2 *Sensor and cable sold separately tPiston magnet standard
N 4
M)( MY
= - Static Dynamic
+
Loading Capacity’ mperia  wetic Imperial ~ Metric ALy e oEE 36 9] ""Agg‘NEsTgﬂﬂgg'TTl'(‘)’s\‘
Maximum Tensile T 65 Ibs. 289N 20 Ib 89N ]
Maximum Compressive G 65 Ibs. 289 N 20 Ib 89N / \ —F / \
Maximum Moment My 45in.-Ibs. 5.1 Nm 15in.-lbs. 1.7 Nm 5 | Y
Maximum Moment My 60in-lbs. 68Nm  20in-lbs. 2.3Nm 4 T =
Maximum Moment Mz 45in-lbs. 51Nm  15in-lbs. 1.7 Nm 2ED|E M=

'Capacities are per set of jaws and are not simultaneous

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com



PARALLEL GRIPPER RPLC-3
PRECISION DUAL “V” CLEAN ROOM SERIES

3.282
[83.4] Specifications RPLC-3 RPLC-3M
1.000 Total Rated Grip Force F @ 100 psi, 7 bar 36 Ib 160 N
‘ [25.4] ‘ 0.75n. 19.1 mm
— 1  —  Weight............. 0.321b 0.15Kg
@ ¢ @ P I 1 Pressure Range .... 5-100 psi 0.3-7 bar
{* - + - A}Q 6560 875 Cylinder Bore 0. 0.500 in. 12.7 mm
! [t 6*.661 2221 Displacement 0.147 in’. 24.cm’
b Temperature Range
@ ’T S Standard Seals -30°~180°F  -35°~80° C
2X @ .1250 SF X .25 DP 4X #5-40 X .31 DP Viton® Seals -20°~250°F  -30°~120° C
[© 3 SF X 6 DP] (M3 X8 DP] Actuation 0.14 sec. 0.14 sec.
Accuracy ... +0.002 in. +0.05 mm
Repeatability ................. +0.001 in. +0.03 mm
OPEN 4-way, 2-position
— .58 [15] j=— \
| « =76 [19]—
4 P 55 [14] ; ‘ | ¢
53 44 ( 31[8] /’ S
e (3 011 g e ; )
— & 1 ¥« \_/ 1,191
? - & I #4-40X 14 DP [M3 X 3 DP] : [30.3] 33;5_%3]’
2X #10-32 [M5] @ ) (SENSOR MNTG HOLE) = | S
AIR PORT (CLOSE) @
[ = (| —

3.25 [83] (OPEN)
2.50 [63] (CLOSED)

#10-32 [M5]
PURGE OR SCAVENGE
PORT

| o] ¢ T [2.7]

A*,@,@g—+f;,

4X #5-40 X .15 DP
[M3 X 4 DP]

224,001
[5.69 0.03]

[6.4]

JAW MOUNTING PATTERN

(SHOWN IN OPEN POSITION)  ——— UNLESS OTHERWISE NOTED ALL TOLERANCES ARE AS SHOWN BELOW

¢ o] @ ¢ Imperialin.  Metric [mm]
Dimensions are Third Angle  All Dowel Holes are SF (Slip Fit). ~ Metric Threads 0.00 = +.01 [0] = [.25]
symmetrical about pmjecﬁgn Locational Tolerance Course Pitch 0.000 = +.005 [0.0] = [+.13]

centerline +,0005" or [+.013mm] 0.0000 = +.0005  [0.00] = [+.013]

Loading Information

|'|0W to Order: (Order Accessories separately from Basic Model)

N Ibs. GRIP FORCE PER FINGER
7918
=~ 00 PSI 17 gy WARNING!
7016 =T DO NOT EXCEED
o 6214 80 PS1 5.5 parj—}, MAXIMUM EFFECTIVE
£ 2 L. FINGER LENGTHS ‘ RPLc_s‘ ., -
] 60 PS| [4.1 b: K
S 4410 - IPS' [|4'1 bla'] s
28 40PSI[2.7 bar] *
& 26 6 ! ¥ \
£ 18 4 20 PS| [1.4 bar] S
g 2 1 SENSOR ACCESSORIES " ORDER # QTY/UNIT
D@ 1 Sensor Mounting Kit for Imperial & Metric Units (mounts 2 sensors) 0SMK-008 1
h . x I i NPN Magneto Resistive Sensor with Quick Disconnect* OHSN-017 1or2
0 25 50 75 102mm PNP Magneto Resistive Sensor with Quick Disconnect* OHSP-017 1or2
EFFECTIVE FINGER LENGTH - L Quick Disconnect 2 Meter Cable Length* CABL-010 1or2
Quick Disconnect 5 Meter Cable Length* CABL-013 1or2
Z PNEUMATIC ACCESSORIES
M <4> Fail Safe Valve (Imperial) OFSV-001 1
[ i Fail Safe Valve (Metric) OFSV-004 1
= |, L. Standard Seal Repair Kt SLKT-012 1
X Viton® Seal Repair Kit SLKT-012V 1
c T W /2 *Sensor and cable sold separately fPiston magnet standard
\\—/MX MY
= - Static Dynamic
"
Loadmg Capacltv Imperial Metric Imperial  Metric AL S MAENETS FESTIE
Maximum Tensile T 90 Ibs. 400 N 30 Ibs. 133N VALVE OPTION \ 3691 SENSOR OPTION
Maximum Compressive € 90 lbs. 400N 30lbs. 133N N E3ll1] y2hN
Maximum Moment My 60in-lbs. 68Nm  20in-lbs. 2.3Nm N | N
Maximum Moment My 80in-lbs. 90Nm  25in-lbs. 28Nm ue -
Maximum Moment Mz 60in.-lbs. 6.8 Nm 20in.-lbs. 2.3 Nm —2.36 [60] MIN.—]

*Capacities are per set of jaws and are not simultaneous

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com



PARALLEL GRIPPER RPLG-4
PRECISION DUAL “V” CLEAN ROOM SERIES

4.007
[101.8]
. 1.000__ _
‘ [25.4] ‘ Specifications RPLC-4 RPLC-4M
5 @ © 1 Total Rated Grip Force F @ 100 psi, 7 bar 36 Ib 160 N
| 875 1.00 in. 25.4 mm
{*ffffﬁffff [fgfgg] poo) Weight....... 0.38 Ib 0.17 Kg
: Ly i Pressure Range. 5-100 psi 0.3-7 bar
© % ® Cylinder Bore . 0.500 in. 12.7 mm
2X @ .1250 SF X .25 DP / 4X #5-40 X .31 DP Displacement 0.196 int 3.2cm®
[@ 3 SF X 6 DP] [M3 X 8 DP| Temperature Range
Standard Seals -30°~180°F  -35°~80° C
Viton® Seals -20°~250°F  -30°~120°C
ACHUALION ... 0.19 sec. 0.19 sec.
2X #10-32 [M5] Accuracy ...... +0.002 in. +0.05 mm
AIR PORTS (CLOSE) Repeatability +0.001 in. +0.03 mm

Valve required to actuate 4-way, 2-position

#10-32 [M5] PURGE OR SCAVENGE PORTS

7/ ~—1.00 [25]——

(=— .94 [24]— OPEN

Loy [ e oS ¢
q
& —"

31[8]

o ——

i i i

R |
o _/ 1191 1.283
? S S~ #4-40 X .14 DP [M3 X 3 DP] ‘ o3 [326]
@ﬁ @ (SENSOR MNTG HOLE) =
|

4.00 [101] (OPEN)
3.00 [76] (CLOSED)

C

625 _ 4X #5-40 X .15 DP
| g ‘ [15.9] / [M3 X 4 DP]
r |
e —1 - =8 —1«
|
.224..001 ‘ 1.500 ‘ ‘ et igiﬁ
[5.69 0.03] [38.1] -
JAW MOUNTING PATTERN UNLESS OTHERWISE NOTED ALL TOLERANCES ARE AS SHOWN BELOW
(SHOWN IN OPEN POSITION) ¢ = @ O Imperialin.  Metric [mm)]
Dimensions are Third Angle  All Dowel Holes are SF (Slip Fit).  Metric Threads 000-88 = 1-385 [%Og]= [[t »215:2]
symmetrical about Projecti Locational Tolerance Pitch -000 = £ 0] =[x,
centerline roecton o5t oreoramml P 00000 <0005 [0.00] = [ 013]
Loadlng Informatlﬂn How to ﬂrder: (Order Accessories separately from Basic Model)
N Ibs. GRIP FORCE PER FINGER
918
70 16 TIPS 17 by WARNING!
DO NOT EXCEED
o 6214 80 PSI [5.5 bar[— ], MAXIMUM EFFECTIVE
= 5312 —r—  FINGER LENGTHS RPLc 4 B -
S 4410 50 ':Sl [4i1 ba? / -
2358 40 PSI 2.7 bar] B
& 26 6 —t—T .
T 18 4 20 PSI [1.4 bar] :
9 2 ! SENSOR ACCESSORIES ORDER # QTY/UNIT
00 ' Sensor Mounting Kit for Imperial & Metric Units (mounts 2 sensors) 0SMK-003 1
0 1 2 3 4 5in. NPN Magneto Resistive Sensor with Quick Disconnect* OHSN-017 lor2
0 25 50 75 102 127mm PNP Magneto Resistive Sensor with Quick Disconnect* OHSP-017 1or2
EFFECTIVE FINGER LENGTH - L Quick Disconnect 2 Meter Cable Length* CABL-010 1or2
z z Quick Disconnect 5 Meter Cable Length* CABL-013 1or2
VB PNEUMATIC ACCESSORIES
@ ! Fail Safe Valve (Imperial) OFSV-001 1
t,_i ! Fail Safe Valve (Metric) OFSV-004 1
Ty — X Standard Seal Repair Kit SLKT-012 1
cllt Viton® Seal Repair Kit SLKT-012V 1
F/2 F/2 *Sensor and cable sold separately *Piston magnet standard
\\—/MX MY
- r Static Dynamic
Loadmg capaclth Imperial Metric Imperial ~ Metric
Maximum Tensile T 120 Ibs. 534N 40 Ibs. 178N FAIL SAFE MAGNETO RESITIVE
4 = == SENSOR OPTIO|
Maximum Compressve € 1201bs. 534N 40lbs. 178N VALVEOPTION | - 63 (1) %617 | ENSOR OPTION
Maximum Moment My 75in.-lbs. 8.5 Nm 25in.-lbs. 2.8 Nm 4R |4 @
Maximum Moment My 100in.-lbs. 11.3Nm  35in.-lbs. 4.0 Nm g9 = B9
Maximum Moment Mz 75in.-lbs. 8.5 Nm 25in.-lbs. 2.8 Nm B =
~—2.36 [60] MIN.—

"Capacities are per set of jaws and are not simultaneous

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com



RPLC Series Exploded View

RPLC SERIES

1.104 01 1 Body
02 1 Piston
03 2 Cap
04 1 Equalizer
05 2 Link
06 4 Way
08 2 Jaw
10 1 Cover, Bottom
11 2 Cover, Bottom, Corners
12 2 Cover, End
13 2 Bearing, Roller
20 1 Piston W/Magnet Slot
21 4 S’assy, Cage & Rollers
30 3 SHCS
31 1 Dowel Pin
32 2 Dowel Pin
40 2 Magnet

Note: contact the robohand sales department
for a complete spare parts list with order
numbers and prices.

Assembly procedure
1) Lubricate and install seals.
2) Glue magnets into one piston, install
pistons, caps and retaining rings.

3) Press dowel pin into center of body.

) Place links and equalizers into body.

) Press dowel pins into jaws.

) Place jaws through links and into pistons.

) Install cages on jaws.

) Place ways behind cages with flat facing
out and install screws.

) Adjust preload.

) Install bottom cover, bottom cover corners
and end covers.

© o~NoO D

1

(=]

Preload adjustment procedure
1) Tighten center screw (#30) so that fingers

Q2 preload adjustment procedure
o 0 8 @~ 2) Tighten outer screws in the same fashion.
w«@% (3 SCREWS) Bind slightly.

3) Cycle the gripper.
4) Re-adjust screws so that when you push
@ the cage, the finger moves freely. (the
finger movement should not feel gritty.)

@ Non-synchronous procedure
1) Remove end covers, bottom cover corners,
@ and bottom cover.
2) Remove preload screws (#30) and ways.
3) Remove cages, jaws and dowel pins.
m 4) Remove equalizer, links, and roller
bearings.
@ 5) Re-assemble jaws and dowel pins into
pistons.
6) Re-install cages on jaws.
7) Place ways behind cages with flat facing
out and
8) Adjust preload. Install preload screws.
9) Re-attach bottom cover, bottom cover
corners and end covers. Gripper is now
non-synchronous.

@ Seal Repair Kit Order #’s
See Product Data Sheets

(s [ [sarons B8 O 6 b®

Seal Kit Thread Krytox™ Lightweight Teflon® Based Super Third Angle
Items Locker Lubricant Machine Oil Grease Bonder Projection

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com



RPLC Series Assembled View

]
]
4
g

CH]

01 1 Body

02 1 Piston

03 2 Cap

04 1 Equalizer

05 2 Link

06 4 Way

08 2 Jaw

10 1 Cover, Bottom

11 2 Cover, Bottom, Corners

12 2 Cover, End

13 2 Bearing, Roller

20 1 Piston W/Magnet Slot

21 4 S’assy, Cage & Rollers

30 3 SHCS

31 1 Dowel Pin

32 2 Dowel Pin

40 2 Magnet

Note: contact the robohand sales department
for a complete spare parts list with order
numbers and prices.

Accessory Installation & Adjustment Instructions

Installation

1) Install sensors as shown.

2) Adjust for desired end of stroke
detection.

(s [one B © 6 b®

Seal Kit Thread Krytox™ Lightweight Teflon® Based Super Third Angle
Items Locker Lubricant Machine Oil Grease Bonder Projection

Please see back cover for DE-STA-CO Global Locations. www.destaco.com
WWW.COMOso.com





